KIT INCLUDES:

1—1/4" THICK ELECTROLYTIC TOUGH PITCH 110 COPPER ALLOY BAR.
1-3" BAR SPLICE PLATE WITH 2 SLOTTED HOLES.

2—WHITE DELRIN INSULATORS

2—12-24 x 5/8" HEX WASHER HEAD SCREW.

2—#12-24 x 3/4” COPPER FLASHED BRASS SCREW.

2—#12 COPPER FLAT WASHER

8—#6—32 x 1/4" COPPER FLASHED BRASS SCREW.

8—#6 RING TERMINAL

*k NOTICE *+* TTLE

THIS DOCUMENT CONTAINS CONFIDENTIAL AND/OR @ oRTRo"’csa HORIZONTAL GROUND BAR KIT

PROPRIETARY_ INFORMATION INTENDED FOR USE
ONLY BY THE INDIVIDUAL(S) SPECIFIED HEREIN N atey aasst00. 0 19.95" x 17
AND ONLY FOR THE PURPOSE(S) PROVIDED. STEY: D :

NEITHER THIS DOCUMENT, NOR ANY INFORMATION B 1w Lucy 01/29,/08

CONTAINED HEREIN, MAY BE COPIED, DISTRIBUTED, S 29/ SIZE |CAD FILE PART NUMBER REV
D T Y R SED AN " Levesaue 01/30,/08 A GBHTI9KIT OR—GBH19KIT 00
BEEN PROVIDED, WITHOUT THE PRIOR WRITTEN APP.BY: SCALE REL SHEET

CONSENT OF ORTRONICS, INC. MEM 01/30/08 NONE |DATE 01/29/08 | 1T OF 1




